



A characterization of derivations in prime rings with involution

Shakir Ali^{1,*}, M. Rahman Mozumder¹, Adnan Abbasi¹, M. Salahuddin Khan²

¹ Department of Mathematics, Faculty of Science, Aligarh Muslim University, Aligarh-202002, India

² Department of Applied Mathematics, Faculty of Engineering, Aligarh Muslim University, Aligarh-202002, India

Abstract. The purpose of this paper is to investigate $*$ -differential identities satisfied by pair of derivations on prime rings with involution. In particular, we prove that if a 2-torsion free noncommutative ring R admit nonzero derivations d_1, d_2 such that $[d_1(x), d_2(x^*)] = 0$ for all $x \in R$, then $d_1 = \lambda d_2$, where $\lambda \in C$. Finally, we provide an example to show that the condition imposed in the hypothesis of our results are necessary.

2010 Mathematics Subject Classifications: 16W10, 16N60, 16W25

Key Words and Phrases: Prime ring, derivation, involution, $*$ -differential identity

1. Introduction

In all that follows, R will represent an associative ring with center $Z(R)$. We denote by Q and C the maximal ring of quotient and the extended centroid of a prime ring, respectively. For the explanation of Q and C we refer the reader to [4]. We denote $[x, y] = xy - yx$, the commutator of x and y and $x \circ y = xy + yx$, the anti-commutator of x and y . A ring is said to 2-torsion free if $2x = 0$ (where $x \in R$) implies $x = 0$. A ring R is said to be prime if $aRb = (0)$ (where $a, b \in R$) implies either $a = 0$ or $b = 0$, and is called semiprime ring if $aRa = (0)$ (where $a \in R$) implies $a = 0$. An additive mapping $*$: $R \rightarrow R$ is called an involution if $*$ is an anti-automorphism of order 2; that is, $(x^*)^* = x$ for all $x \in R$. An element x in a ring with involution is said to be hermitian if $x^* = x$ and skew-hermitian if $x^* = -x$. The sets of all hermitian and skew-hermitian elements of R will be denoted by $H(R)$ and $S(R)$, respectively. A ring equipped with an involution is known as ring with involution or $*$ -ring. The involution is said to be of the first kind if $Z(R) \subseteq H(R)$, otherwise it is said to be of the second kind. In the later case,

*Corresponding author.

DOI: <https://doi.org/10.29020/nybg.ejpam.v12i3.3496>

Email addresses: shakir.ali.mm@amu.ac.in (S. Ali), muzibamu81@gmail.com (M. R. Mozumder), adnan.abbasi001@gmail.com (A. Abbasi), salahuddinkhan50@gmail.com (M. S. Khan)

$S(R) \cap Z(R) \neq (0)$. If R is 2-torsion free then every $x \in R$ can be uniquely represented in the form $2x = h + k$, where $h \in H(R)$ and $k \in S(R)$. Note that in this case x is normal i.e., $xx^* = x^*x$, if and only if h and k commute. If all elements in R are normal, then R is called a normal ring. An example is the ring of quaternions. A description of such rings can be found in [14], where further references can be found.

A derivation on R is an additive mapping $d : R \rightarrow R$ such that $d(xy) = d(x)y + xd(y)$ for all $x, y \in R$. A derivation d is said to be inner if there exists $a \in R$ such that $d(x) = ax - xa$ for all $x \in R$. Over the last 30 years, several authors have investigated the relationship between commutativity of the ring R and certain special types of maps on R . The first result in this direction is due to Divinsky [12], who proved that a simple artinian ring is commutative if it has a commuting non-trivial automorphism. Two years later, Posner [18] proved that the existence of a nonzero centralizing derivation on a prime ring forces the ring to be commutative. Over the last few decades, many authors have refined and extended these results in various directions (see for example [3, 5–7, 9] where further references can be looked).

In [13], Herstein proved that if R is a prime ring of characteristic not two admitting a nonzero derivation d such that $[d(x), d(y)] = 0$ for all $x, y \in R$, then R is commutative. Further, Daif [10] showed that a 2-torsion free semiprime ring R admits a nonzero derivation d such that $[d(x), d(y)] = 0$ for all $x, y \in I$, where I is a nonzero ideal of R , then R contains a nonzero central ideal. In [15], Lanski prove that if L is a noncommutative Lie ideal of a 2-torsion free prime ring R and d, h are nonzero derivations of R such that $[d(x), h(x)] \in C$ for all $x \in L$, then $h = \lambda d$, where $\lambda \in C$. Very recently, the first author together with Dar [11] proved the following result: Let R be a prime ring with involution $*$ of the second kind such that $\text{char}(R) \neq 2$. If R admits a nonzero derivation d such that $[d(x), d(x^*)] = 0$ for all $x \in R$, then R is commutative. In the last three decades many authors have generalized the above mention result in several ways (viz.; [1, 2, 8, 11, 15, 17, 19] where further references can be found).

Motivated by the above results, here we continue this line of investigation by considering more general situations. Besides proving some other results, the main result is the following theorem.

Main Theorem. Let R be a 2-torsion free noncommutative prime ring with involution $*$ of the second kind and d_1, d_2 be two nonzero derivations on R such that

$$[d_1(x), d_2(x^*)] = 0 \text{ for all } x \in R.$$

Then $d_1 = \lambda d_2$, where $\lambda \in C$.

2. Main results

In order to prove our results, we need the following lemma.

Lemma 1. *Let R be a 2-torsion free noncommutative prime ring with involution $*$ of the second kind and d_1, d_2 be two nonzero derivations on R . If one of the following conditions holds:*

$$(i) [d_1(x), d_2(y)] = x \circ y \text{ for all } x, y \in R,$$

$$(ii) [d_1(x), d_2(y)] = -x \circ y \text{ for all } x, y \in R,$$

then $d_1 = \lambda d_2$, where $\lambda \in C$.

Proof. (i) We consider the case

$$[d_1(x), d_2(y)] = x \circ y \text{ for all } x, y \in R. \quad (1)$$

Substituting yh for y , where $h \in H(R) \cap Z(R)$, we get

$$[d_1(x), y]d_2(h) = 0 \text{ for all } x, y \in R. \quad (2)$$

Using the primeness of R we have either $d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$ or $[d_1(x), y] = 0$ for all $x, y \in R$. If $[d_1(x), y] = 0$ for all $x, y \in R$, then by Posner's result [18] R is commutative, a contradiction. Therefore we are left with the case $d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$. Replacing y by yx in (1), we obtain

$$d_2(y)[d_1(x), x] + [d_1(x), d_2(y)]x + y[d_1(x), d_2(x)] + [d_1(x), y]d_2(x) = xyx + yx^2 \quad (3)$$

for all $x, y \in R$. Multiplying (1) by x from right side and subtracting it from (3), we arrive at

$$d_2(y)[d_1(x), x] + y[d_1(x), d_2(x)] + [d_1(x), y]d_2(x) = 0 \text{ for all } x, y \in R.$$

Now taking h for y where $h \in H(R) \cap Z(R)$, we get $h[d_1(x), d_2(x)] = 0$ for all $x \in R$. Now using the primeness of R and the fact that $S(R) \cap Z(R) \neq (0)$, we finally arrive at $[d_1(x), d_2(x)] = 0$ for all $x \in R$. Thus in view of [15, Theorem 4] we get $d_1 = \lambda d_2$, where $\lambda \in C$.

(ii) Using a similar approach with necessary variations, we can prove that the same conclusion holds for the case $[d_1(x), d_2(y)] = -x \circ y$ for all $x, y \in R$.

Proof of Main Theorem. By the given assumption, we have

$$[d_1(x), d_2(x^*)] = 0 \quad (4)$$

for all $x \in R$. A linearization of (4) yields that

$$[d_1(x), d_2(y^*)] + [d_1(y), d_2(x^*)] = 0 \quad (5)$$

for all $x, y \in R$. Replacing y by hy in (5), where $y \in R$ and $h \in H(R) \cap Z(R)$, we get

$$h([d_1(x), d_2(y^*)] + [d_1(y), d_2(x^*)]) + d_2(h)[d_1(x), y^*] + d_1(h)[y, d_2(x^*)] = 0.$$

Using (5), we get

$$d_2(h)[d_1(x), y^*] + d_1(h)[y, d_2(x^*)] = 0 \quad (6)$$

for all $x, y \in R$ and $h \in H(R) \cap Z(R)$. Substituting ky for y in (6), where $k \in S(R) \cap Z(R)$, we have

$$-d_2(h)[d_1(x), y^*k] + d_1(h)[ky, d_2(x^*)] = 0.$$

This further implies that

$$-d_2(h)k[d_1(x), y^*] + d_1(h)k[y, d_2(x^*)] = 0. \quad (7)$$

Multiplying (6) by k and comparing with (7), we obtain

$$2d_1(h)k[y, d_2(x^*)] = 0.$$

Since $\text{char}(R) \neq 2$ and $S(R) \cap Z(R) \neq (0)$, the above expression gives

$$d_1(h)[y, d_2(x^*)] = 0 \quad (8)$$

for all $x, y \in R$ and $h \in H(R) \cap Z(R)$. Invoking the primeness of R , we get $d_1(h) = 0$ for all $h \in H(R) \cap Z(R)$ or $[y, d_2(x^*)] = 0$ for all $x, y \in R$. Suppose $[y, d_2(x^*)] = 0$ for all $x, y \in R$. Replacing x by x^* we get $[y, d_2(x)] = 0$ for all $x, y \in R$. Thus in view of Posner's result [18], R is commutative, which is a contradiction. Now suppose $d_1(h) = 0$ for all $h \in H(R) \cap Z(R)$. This further implies that $0 = d_1(k^2) = 2d_1(k)k$. Since $\text{char}(R) \neq 2$ and $S(R) \cap Z(R) \neq (0)$, we have $d_1(k) = 0$ for all $k \in S(R) \cap Z(R)$. Now since every $z \in Z(R)$ can be represented as $2z = h + k$ where $h \in H(R) \cap Z(R)$ and $k \in S(R) \cap Z(R)$, we get $d_1(Z(R)) = (0)$. Now in view of (7), we have

$$d_2(h)k[d_1(x), y^*] = 0$$

for all $x, y \in R, h \in H(R) \cap Z(R)$ and $k \in S(R) \cap Z(R)$. Using primeness, we get either $d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$ or $[d_1(x), y^*] = 0$ for all $x, y \in R$. Replacing y by y^* , we get $[d_1(x), y] = 0$ for all $x, y \in R$. Again using Posner's result [18], we get a contradiction. Now suppose $d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$. This intern implies that $d_2(Z(R)) = (0)$. Replacing y by $-ky$ in (5), we have

$$k([d_1(x), d_2(y^*)] - [d_1(y), d_2(x^*)]) = 0.$$

This further implies that

$$[d_1(x), d_2(y^*)] - [d_1(y), d_2(x^*)] = 0 \quad (9)$$

for all $x, y \in R$, since $S(R) \cap Z(R) \neq (0)$. On comparing (9) with (5), we get $2[d_1(x), d_2(y^*)] = 0$ for all $x, y \in R$. The last relation gives, $[d_1(x), d_2(y)] = 0$ for all $x, y \in R$. This implies that $[d_1(x), d_2(x)] = 0$ for all $x \in R$. Hence in view of [15, Theorem 4], we conclude that $d_1 = \lambda d_2$, where $\lambda \in C$. This completes the proof of the theorem. \square

Corollary 1. Let R be a 2-torsion free noncommutative prime ring with involution $*$ of the second kind and d_1, d_2 be two nonzero derivations on R such that $[d_1(x), d_2(y^*)] = 0$ for all $x, y \in R$. Then $d_1 = \lambda d_2$, where $\lambda \in C$.

Theorem 1. Let R be a 2-torsion free noncommutative prime ring with involution $*$ of the second kind and d_1, d_2 be two nonzero derivations on R . If one of the following conditions holds:

- (i) $[d_1(x), d_2(x^*)] = [x, x^*]$ for all $x \in R$,
- (ii) $[d_1(x), d_2(x^*)] = -[x, x^*]$ for all $x \in R$,

then $d_1 = \lambda d_2$, where $\lambda \in C$.

Proof. By the given assumption, we have

$$[d_1(x), d_2(x^*)] = [x, x^*] \text{ for all } x \in R. \quad (10)$$

A linearization of (10) yields that

$$[d_1(x), d_2(y^*)] + [d_1(y), d_2(x^*)] = [x, y^*] + [y, x^*] \text{ for all } x, y \in R. \quad (11)$$

Replace y by hy in (11), where $h \in H(R) \cap Z(R)$, we get

$$[d_1(x), d_2((hy)^*)] + [d_1(hy), d_2(x^*)] = [x, (hy)^*] + [hy, x^*] \quad (12)$$

for all $x, y \in R$ and $h \in H(R) \cap Z(R)$. On solving, we obtain

$$[d_1(x), y^*]d_2(h) + [y, d_2(x^*)]d_1(h) + \quad (13)$$

$$h([d_1(x), d_2(y^*)] + [d_1(y), d_2(x^*)]) = ([x, y^*] + [y, x^*])h$$

for all $x, y \in R$ and $h \in H(R) \cap Z(R)$. Multiplying (11) by h and adding with (13), we arrive at

$$[d_1(x), y^*]d_2(h) + [y, d_2(x^*)]d_1(h) = 0 \quad (14)$$

for all $x, y \in R$ and $h \in H(R) \cap Z(R)$. Replacing y by ky , where $k \in S(R) \cap Z(R)$, we get

$$-[d_1(x), y^*]kd_2(h) + d_1(h)k[y, d_2(x^*)] = 0 \text{ for all } x, y \in R. \quad (15)$$

Multiplying (14) by k and adding with (15), we obtain

$$2d_1(h)k[y, d_2(x^*)] = 0 \text{ for all } x, y \in R.$$

This implies that

$$d_1(h)k[y, d_2(x^*)] = 0 \text{ for all } x, y \in R.$$

Using the primeness of the ring R and the fact that $S(R) \cap Z(R) \neq (0)$, we arrive at

$$\text{either } d_1(h) = 0 \text{ or } [y, d_2(x^*)] = 0 \text{ for all } x, y \in R. \quad (16)$$

$[y, d_2(x^*)] = 0$ for all $x, y \in R$ implies that R is commutative, a contradiction. Therefore we are left with $d_1(h) = 0$ for all $h \in H(R) \cap Z(R)$. Using this in (15), we get

$$-[d_2(x), y^*]kd_2(h) = 0 \text{ for all } x, y \in R.$$

The primeness of R yields that

$$d_2(h) = 0 \text{ for all } h \in H(R) \cap Z(R). \quad (17)$$

or

$$[d_1(x), y^*] = 0 \text{ for all } x, y \in R.$$

Again if $[d_1(x), y^*] = 0$ for all $x, y \in R$, we get a contradiction. Therefore we are left with $d_2(h) = 0$. This implies that $d_2(k) = 0$ and hence $d_2(Z(R)) = (0)$. Similarly in view of (16) we get $d_1(Z(R)) = (0)$. Now on replacing y by ky in (11), where $k \in S(R) \cap Z(R)$, we get

$$[d_1(x), d_2((ky)^*)] + [d_1(ky), d_2(x^*)] = [x, (ky)^*] + [ky, x^*] \quad (18)$$

for all $x, y \in R$ and $k \in S(R) \cap Z(R)$. On solving, we have

$$-[d_1(x), d_2(y^*)]k + k[d_1(y), d_2(x^*)] = -[x, y^*]k + k[y, x^*] \quad (19)$$

for all $x, y \in R$ and $k \in S(R) \cap Z(R)$. Multiplying (11) by k and adding with (19), we obtain $2k[d_1(y), d_2(x^*)] = 2[y, x^*]$. Since $\text{char}(R) \neq 2$ and invoking primeness of R , we get $[d_1(y), d_2(x^*)] = [y, x^*]$ for all $x, y \in R$. Hence $[d_1(y), d_2(x)] = [y, x]$ for all $x, y \in R$. Taking y for x , we finally arrive at $[d_1(x), d_2(x)] = 0$ for all $x \in R$. Thus in view of [15, Theorem 4], we get $d_1 = \lambda d_2$, where $\lambda \in C$.

(ii) This can be proved by similar manner with necessary variations.

Theorem 2. Let R be a 2-torsion free noncommutative prime ring with involution $*$ of the second kind and d_1, d_2 be two nonzero derivations on R such that

$$[d_1(x), x^*d_2(x)] = 0, \text{ for all } x \in R.$$

Then $d_1 = \lambda d_2$, where $\lambda \in C$.

Proof. By the assumption, we have

$$[d_1(x), x^*d_2(x)] = 0 \text{ for all } x \in R. \quad (20)$$

Linearization of (20) give us

$$\begin{aligned} & [d_1(x), x^*d_2(x)] + [d_1(x), x^*d_2(y)] + [d_1(x), y^*d_2(x)] + [d_1(x), y^*d_2(y)] \\ & + [d_1(y), x^*d_2(x)] + [d_1(y), x^*d_2(y)] + [d_1(y), y^*d_2(x)] + [d_1(y), y^*d_2(y)] = 0 \end{aligned}$$

for all $x, y \in R$. Using (20), we get

$$[d_1(x), x^*d_2(y)] + [d_1(x), y^*d_2(x)] + [d_1(x), y^*d_2(y)] \quad (21)$$

$$+[d_1(y), x^*d_2(x)] + [d_1(y), x^*d_2(y)] + [d_1(y), y^*d_2(x)] = 0 \text{ for all } x, y \in R.$$

Replacing y by h where $h \in H(R) \cap Z(R)$, we get

$$[d_1(x), x^*]d_2(h) + h[d_1(x), d_2(x)] = 0 \text{ for all } x \in R. \quad (22)$$

Substituting $x + y$ for x where $x, y \in R$ and combining it with (22), we have

$$([d_1(x), y^*] + [d_1(y), x^*])d_2(h) + h([d_1(x), d_2(y)] + [d_1(y), d_2(x)]) = 0 \quad (23)$$

for all $x, y \in R$. Now replacing y by hy where $y \in R$ and $h \in H(R) \cap Z(R)$, we obtain

$$[d_1(x), y^*]hd_2(h) + [d_1(y), x^*]hd_2(h) + [y, x^*]d_1(h)d_2(h) + h^2[d_1(x), d_2(y)] \quad (24)$$

$$+h[d_1(x), y]d_2(h) + h^2[d_1(y), d_2(x)] + hd_1(h)[y, d_2(x)] = 0 \text{ for all } x, y \in R.$$

Multiplying (23) by h where $h \in H(R) \cap Z(R)$ and using in (24) we get

$$[y, x^*]d_1(h)d_2(h) + h[d_1(x), y]d_2(h) + hd_1(h)[y, d_2(x)] = 0 \quad (25)$$

for all $x, y \in R$. Replacing x by kx where $x \in R$ and $k \in S(R) \cap Z(R)$, we arrive at

$$-[y, x^*]kd_1(h)d_2(h) + hk[d_1(x), y]d_2(h) + h[x, y]d_1(k)d_2(h) \quad (26)$$

$$+hd_1(h)[y, d_2(x)]k + hd_1(h)[y, x]d_2(k) = 0 \text{ for all } x, y \in R.$$

Multiplying (25) by k where $k \in S(R) \cap Z(R)$ and adding it with (26), we get

$$2hk([d_1(x), y]d_2(h) + [y, d_2(x)]d_1(h)) + h[x, y]d_1(k)d_2(h) + hd_1(h)[y, x]d_2(k) = 0$$

for all $x, y \in R$. Taking $y = x$, we obtain

$$2hk([d_1(x), x]d_2(h) + [x, d_2(x)]d_1(h)) = 0$$

for all $x \in R$. Since R is 2-torsion free prime ring and $S(R) \cap Z(R) \neq (0)$, the above relation implies that

$$[d_1(x), x]d_2(h) + [x, d_2(x)]d_1(h) = 0 \text{ for all } x \in R. \quad (27)$$

Replacing y by x in (25), we get

$$[x, x^*]d_1(h)d_2(h) + h[d_1(x), x]d_2(h) + hd_1(h)[x, d_2(x)] = 0 \quad (28)$$

for $x \in R$ and $h \in H(R) \cap Z(R)$. Using (27) in (28), we get $[x, x^*]d_1(h)d_2(h) = 0$ for all $x \in R$ and $h \in H(R) \cap Z(R)$. Now use the primeness condition we get either $[x, x^*] = 0$ for all $x \in R$ or $d_1(h)d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$. If we consider $[x, x^*] = 0$, then in view of [16, Lemma 2.1] R is commutative, which is a contradiction to our assumption, now we have $d_1(h)d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$. Using the primeness of the ring R we get either $d_1(h) = 0$ or $d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$. If consider $d_1(h) = 0$.

Then by (25) we get $h[d_1(x), y]d_2(h) = 0$ for all $x, y \in R$. Now using the primeness of the ring R , we obtain $[d_1(x), y]d_2(h) = 0$ for all $x, y \in R$. Again by the primeness of the ring R , we have either $d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$ or $[d_1(x), y] = 0$ for all $x, y \in R$. If we consider $[d_1(x), y] = 0$ for all $x, y \in R$. This gives R is commutative by Posner's result [18], a contradiction. Therefore we are left with $d_2(h) = 0$ for all $h \in H(R) \cap Z(R)$. Similarly in view of (25) we get $d_1(h) = 0$ for all $h \in H(R) \cap Z(R)$. Replacing y by h where $h \in H(R) \cap Z(R)$ in (21) and using $d_1(h) = 0$ and $d_2(h) = 0$, we get $h[d_1(x), d_2(x)] = 0$ for all $x \in R$. Now using the primeness and $S(R) \cap Z(R) \neq (0)$ conditions, we get $[d_1(x), d_2(x)] = 0$ for all $x \in R$. Thus by the result of Lanski [15, Theorem 4], we get $d_1 = \lambda d_2$, where $\lambda \in C$.

Corollary 2. Let R be a 2-torsion free noncommutative prime ring with involution $*$ of the second kind and d_1, d_2 be two nonzero derivations on R such that $[d_1(x), y^*d_2(y)] = 0$ for all $x, y \in R$. Then $d_1 = \lambda d_2$, where $\lambda \in C$.

Theorem 3. Let R be a 2-torsion free noncommutative prime ring with involution $*$ of the second kind and d_1, d_2 be two nonzero derivations on R . If one of the following conditions holds:

- (i) $[d_1(x), d_2(x^*)] = x \circ x^*$ for all $x \in R$,
- (ii) $[d_1(x), d_2(x^*)] = -x \circ x^*$ for all $x \in R$,

then $d_1 = \lambda d_2$, where $\lambda \in C$.

Proof. By the given hypothesis, we have

$$[d_1(x), d_2(x^*)] = x \circ x^* \quad \text{for all } x \in R. \quad (29)$$

Replacing x by $x + y$ in (29), we get

$$\begin{aligned} & [d_1(x), d_2(x^*)] + [d_1(y), d_2(y^*)] + [d_1(x), d_2(y^*)] + [d_1(y), d_2(x^*)] \\ &= x \circ x^* + y \circ y^* + xy^* + yx^* + x^*y + y^*x \end{aligned}$$

for all $x, y \in R$. Using (29), we get

$$[d_1(x), d_2(y^*)] + [d_1(y), d_2(x^*)] = xy^* + yx^* + x^*y + y^*x \quad (30)$$

for all $x, y \in R$. Substituting hy for y in (30) where $h \in H(R) \cap Z(R)$, we have

$$\begin{aligned} & h([d_1(x), d_2(y^*)] + [d_1(y), d_2(x^*)]) + [d_1(x), y^*]d_2(h) + d_1(h)[y, d_2(x^*)] \\ &= h(xy^* + yx^* + x^*y + y^*x) \quad \text{for all } x, y \in R. \end{aligned} \quad (31)$$

Using (30), (31) reduces to

$$[d_1(x), y^*]d_2(h) + d_1(h)[y, d_2(x^*)] = 0 \quad \text{for all } x, y \in R. \quad (32)$$

Now (32) is same as (14) and thus following the same techniques we get $d_1(Z(R)) = (0)$ and $d_2(Z(R)) = (0)$. Now replace y by ky in (30) where $k \in S(R) \cap Z(R)$, we get

$$\begin{aligned} & -[d_1(x), d_2(y^*)]k - [d_1(x), y^*]d_2(k) + d_1(k)[y, d_2(x^*)] + k[d_1(y), d_2(x^*)] \\ & = -xy^*k + kyx^* + x^*ky - ky^*x \end{aligned} \quad (33)$$

for all $x, y \in R$. Now multiplying (30) by $k \in S(R) \cap Z(R)$ and adding with (33), we get

$$2[d_1(y), d_2(x^*)]k = 2k(yx^* + x^*y) \text{ for all } x, y \in R.$$

This implies that

$$k([d_1(y), d_2(x^*)] - (y \circ x^*)) = 0 \text{ for all } x, y \in R.$$

Invoking the primeness of R , we get

$$[d_1(y), d_2(x^*)] - (y \circ x^*) = 0 \text{ for all } x, y \in R.$$

Now replace x by x^* , we obtain

$$[d_1(y), d_2(x)] - (y \circ x) = 0 \text{ for all } x, y \in R.$$

Hence application of Lemma 1 gives that $d_1 = \lambda d_2$, where $\lambda \in C$.

(ii) Similarly we can prove the second part.

The following example shows that the primeness hypothesis in main theorem and Theorem 2 is not superfluous.

Example 1. Let $R = \left\{ \begin{pmatrix} a_1 + ib_1 & a_2 + ib_2 \\ a_3 + ib_3 & a_4 + ib_4 \end{pmatrix} \mid a_1, a_2, a_3, a_4, b_1, b_2, b_3, b_4 \in \mathbb{R} \right\}$, where \mathbb{R} is a ring of real numbers. Of course, R with matrix addition and matrix multiplication is a noncommutative prime ring. Define mappings $*$, $d_1 : R \rightarrow R$ such that

$$\begin{aligned} \begin{pmatrix} a_1 + ib_1 & a_2 + ib_2 \\ a_3 + ib_3 & a_4 + ib_4 \end{pmatrix}^* &= \begin{pmatrix} a_1 - ib_1 & a_3 - ib_3 \\ a_2 - ib_2 & a_4 - ib_4 \end{pmatrix} \text{ and,} \\ d_1 \begin{pmatrix} a_1 + ib_1 & a_2 + ib_2 \\ a_3 + ib_3 & a_4 + ib_4 \end{pmatrix} &= \begin{pmatrix} 0 & -(a_2 + ib_2) \\ (a_3 + ib_3) & 0 \end{pmatrix}. \end{aligned}$$

It can be easily checked that $*$ and d_1 are respectively involution and derivation on R . Let \mathbb{H} be a ring of real quaternions. Define involution $-$ and derivation $d_2 = d_i$ (where d_i is an inner derivation on \mathbb{H} determined by $i \in \mathbb{H}$) as follows $\bar{q} = \alpha - i\beta - j\gamma - k\delta$ and $d_i(q) = [i, q]$ for all $q \in \mathbb{H}$.

Let $S = R \times \mathbb{H}$, where R is same as defined above with involution $*$ and derivation d_1 and \mathbb{H} is the ring of real quaternions with involution $-$ and derivation d_2 as above. Clearly, S is a 2-torsion free noncommutative semiprime ring. Now define an involution α on S ,

as $(x, y)^\alpha = (x^*, \bar{y})$. Clearly, α is an involution of the second kind. Further, we define the mappings D_1 and D_2 from S to S such that $D_1(x, y) = (d_1(x), 0)$ and $D_2(x, y) = (0, d_2(x))$ for all $(x, y) \in S$. It can be easily checked that D_1, D_2 are derivations on S and satisfying $[D_1(X), D_2(X^\alpha)] = 0$ and $[D_1(X), X^\alpha D_2(X)] = 0$ for all $X \in S$, but D_1 and D_2 are linearly independent derivations. Hence, in Main Theorem and Theorem 2, the hypothesis of primeness is essential.

Acknowledgements

The authors would like to thank the referee(s) for his/her careful reading of the manuscript.

References

- [1] S. Ali and N. A. Dar. On $*$ -centralizing mappings in rings with involution, *Georgian Math. J.*, **21**:25–28, 2014.
- [2] S. Ali, M. S. Khan and M. M. Al-Shomrani. Generalization of Herstein theorem and its applications to range inclusion problems, *J. Egyptian Math. Soc.*, **22**(3):322–326, 2014.
- [3] M. Ashraf and N. Rehman. On commutativity of rings with derivations, *Results Math.*, **42**:3–8, 2002.
- [4] K. I. Beider, W. S. Martindale III and A. V. Mikhalev. Rings with generalized identities, *Monogr. Pure Appl. Math. 196, Marcel Dekker, New york*, **11** 1996.
- [5] H. E. Bell and M. N. Daif. On derivations and commutativity in prime rings, *Acta Math. Hungar.*, **66**:337–343, 1995.
- [6] H. E. Bell and M. N. Daif. On commutativity and strong commutativity preserving maps, *Canad. Math. Bull.*, **37**:443–447, 1994.
- [7] H. E. Bell and W. S. Martindale III. Centralizing mappings on semiprime rings, *Canad. Math. Bull.*, **30**:92–101, 1987.
- [8] H. E. Bell and N. Rehman. Generalized derivations with commutativity and anti-commutativity conditions, *Math. J. Okayama Univ.*, **49**:139–147, 2007.
- [9] M. Brešar and C. R. Miers. Strong commutativity preserving mappings of semiprime rings, *Canad. Math. Bull.*, **37**:457–460, 1994.
- [10] M. N. Daif. Commutativity results for semiprime rings with derivations, *Internat. J. Math. Math. Sci.*, **21**(3):471–474, 1998.
- [11] N. A. Dar and S. Ali. On $*$ -commuting mappings and derivations in rings with involution, *Turkish J. Math.*, **40**:884–894, 2016.

- [12] N. Divinsky. On commuting automorphisms of rings *Trans. Roy. Soc. Canada. Sect. III*, (3)**49**:19–22, 1955.
- [13] I. N. Herstein. A note on derivations, *Canad. Math. Bull.*, **21**(3):369–370, 1978.
- [14] I. N. Herstein. *Rings with involution*, The University of Chicago Press, Chicago, 1976.
- [15] C. Lanski. Differential identities of prime rings, Kharchenko's theorem and application, *Azumaya algebras, actions, and modules (Bloomington, IN, 1990)*, 111128, *Contemp. Math.*, **124**, Amer. Math. Soc., Providence, RI, 1992.
- [16] B. Nejjar, A. Kacha, A. Mamouni and L. Oukhtite. Commutativity theorems in rings with involution, *Comm. Algebra*, **45**(2):698–708, 2017.
- [17] F. W. Niu. On a pair of derivations on associative rings, *J. Math. (Wuhan)*, **10**(4):385–390, 1990.
- [18] E. C. Posner. Derivations in prime rings, *Proc. Amer. Math. Soc.*, **8**:1093–1100, 1957.
- [19] H. Shuliang. A note on Lie ideals of prime rings, *Commun. Korean Math. Soc.*, **25**(3):327–333, 2010.